

SHARP INEQUALITIES BETWEEN MEANS

YUMING CHU AND BOYONG LONG

(Communicated by K. B. Stolarsky)

Abstract. For $p \in \mathbb{R}$ the p -th power mean $M_p(a, b)$, arithmetic mean $A(a, b)$, geometric mean $G(a, b)$, and harmonic mean $H(a, b)$ of two positive numbers a and b are defined by

$$M_p(a, b) = \begin{cases} \left(\frac{a^p + b^p}{2} \right)^{1/p}, & p \neq 0, \\ \sqrt{ab}, & p = 0, \end{cases}$$

$A(a, b) = (a + b)/2$, $G(a, b) = \sqrt{ab}$, and $H(a, b) = 2ab/(a + b)$, respectively.

In this paper, we answer the questions: For $\alpha \in (0, 1)$, what are the greatest values p, r and m , and the least values q, s and n , such that the inequalities $M_p(a, b) \leq A^\alpha(a, b)G^{1-\alpha}(a, b) \leq M_q(a, b)$, $M_r(a, b) \leq G^\alpha(a, b)H^{1-\alpha}(a, b) \leq M_s(a, b)$ and $M_m(a, b) \leq A^\alpha(a, b)H^{1-\alpha}(a, b) \leq M_n(a, b)$ hold for all $a, b > 0$?

1. Introduction

For $p \in \mathbb{R}$ the p -th power mean $M_p(a, b)$ of two positive numbers a and b is defined by

$$M_p(a, b) = \begin{cases} \left(\frac{a^p + b^p}{2} \right)^{1/p}, & p \neq 0, \\ \sqrt{ab}, & p = 0, \end{cases}$$

It is well-known that $M_p(a, b)$ is continuous and strictly increasing with respect to $p \in \mathbb{R}$ for fixed a and b with $a \neq b$. In the recent past, the power mean has been the subject of intensive research. In particular, many remarkable inequalities for $M_p(a, b)$ can be found in literature [1, 3, 4, 6-8, 10-15]. Let $A(a, b) = (a + b)/2$, $G(a, b) = \sqrt{ab}$, and $H(a, b) = 2ab/(a + b)$ be the arithmetic, geometric, and harmonic means of two positive numbers a and b , respectively. Then

$$\begin{aligned} \min\{a, b\} &\leq H(a, b) = M_{-1}(a, b) \leq G(a, b) = M_0(a, b) \\ &\leq A(a, b) = M_1(a, b) \leq \max\{a, b\}. \end{aligned}$$

Mathematics subject classification (2010): 26E60.

Keywords and phrases: Power mean, arithmetic mean, geometric mean, harmonic mean.

This work was supported by the Natural Science Foundation of China (11071069), Natural Science Foundation of Zhejiang Province (D7080080, Y6100170) and Innovation Team Foundation of the Department of Education of Zhejiang Province (T200924).

In [2], Alzer and Janous established the following sharp double inequality (see also [5, p. 350]):

$$M_{\frac{\ln 2}{\ln 3}}(a, b) \leq \frac{2}{3}A(a, b) + \frac{1}{3}G(a, b) \leq M_{\frac{2}{3}}(a, b)$$

for all $a, b > 0$.

For $\alpha \in (0, 1)$, Janous [9] found the greatest value p and least value q such that $M_p(a, b) \leq \alpha A(a, b) + (1 - \alpha)G(a, b) \leq M_q(a, b)$ for all $a, b > 0$.

However the following problems remain: For $\alpha \in (0, 1)$, what are the greatest values p, r and m , and the least values q, s and n , such that the inequalities

$$M_p(a, b) \leq A^\alpha(a, b)G^{1-\alpha}(a, b) \leq M_q(a, b),$$

$$M_r(a, b) \leq G^\alpha(a, b)H^{1-\alpha}(a, b) \leq M_s(a, b)$$

and

$$M_m(a, b) \leq A^\alpha(a, b)H^{1-\alpha}(a, b) \leq M_n(a, b)$$

hold for all $a, b > 0$? In this paper we solve these problems.

2. Main Results

THEOREM 2.1. *If $\alpha \in (0, 1)$, then $A^\alpha(a, b)G^{1-\alpha}(a, b) \leq M_\alpha(a, b)$ for all $a, b > 0$, with equality if and only if $a = b$, and the constant α in $M_\alpha(a, b)$ cannot be improved.*

Proof. If $a = b$, clearly $A^\alpha(a, b)G^{1-\alpha}(a, b) = M_\alpha(a, b) = a$. Otherwise $a > b$ without loss of generality.

Let $t = a/b > 1$ and $f(t) = \log M_\alpha(a, b) - \log[A^\alpha(a, b)G^{1-\alpha}(a, b)]$. Then we have

$$f(t) = \frac{1}{\alpha} \log \frac{1+t^\alpha}{2} - \alpha \log \frac{1+t}{2} - \frac{1-\alpha}{2} \log t, \tag{2.1}$$

$$f(1) = 0, \tag{2.1}$$

$$f'(t) = \frac{1}{2t(1+t)(1+t^\alpha)} g(t), \tag{2.2}$$

where $g(t) = (1 - \alpha)t^{\alpha+1} + (1 + \alpha)t^\alpha - (\alpha + 1)t - (1 - \alpha)$,

$$g(1) = 0, \tag{2.3}$$

$$g'(t) = \frac{1 + \alpha}{t} h(t), \tag{2.4}$$

where $h(t) = (1 - \alpha)t^{\alpha+1} + \alpha t^\alpha - t$,

$$h(1) = 0, \tag{2.5}$$

$$h'(t) = (1 - \alpha^2)t^\alpha + \alpha^2 t^{\alpha-1} - 1, \quad (2.6)$$

$$h'(1) = 0 \quad (2.7)$$

and

$$h''(t) = \alpha(1 - \alpha)t^{\alpha-2}[(1 + \alpha)t - \alpha] > 0 \quad (2.8)$$

for $t \in (1, +\infty)$.

From (2.1)–(2.8) we get $f(t) > 0$ for $t \in (1, +\infty)$.

Next, we prove that the constant α in $M_\alpha(a, b)$ cannot be improved.

For any $\varepsilon \in (0, \alpha)$ and $x \in (0, 1)$ one has

$$\begin{aligned} & [M_{\alpha-\varepsilon}(1+x, 1)]^{\alpha-\varepsilon} - [A^\alpha(1+x, 1)G^{1-\alpha}(1+x, 1)]^{\alpha-\varepsilon} \\ &= \frac{1}{2} \left[1 + (1+x)^{\alpha-\varepsilon} \right] - \left(1 + \frac{x}{2} \right)^{\alpha(\alpha-\varepsilon)} (1+x)^{\frac{(1-\alpha)(\alpha-\varepsilon)}{2}} \\ &= \left[1 + \frac{\alpha-\varepsilon}{2}x + \frac{(\alpha-\varepsilon)(\alpha-\varepsilon-1)}{4}x^2 + o(x^2) \right] - \left\{ 1 + \frac{\alpha(\alpha-\varepsilon)}{2}x \right. \\ & \quad \left. + \frac{\alpha(\alpha-\varepsilon)[\alpha(\alpha-\varepsilon)-1]}{8}x^2 + o(x^2) \right\} \left\{ 1 + \frac{(1-\alpha)(\alpha-\varepsilon)}{2}x \right. \\ & \quad \left. + \frac{(1-\alpha)(\alpha-\varepsilon)}{4} \left[\frac{(1-\alpha)(\alpha-\varepsilon)}{2} - 1 \right] x^2 + o(x^2) \right\} \\ &= -\frac{1}{8}\varepsilon(\alpha-\varepsilon)x^2 + o(x^2) \quad (x \rightarrow 0). \end{aligned} \quad (2.9)$$

Equation (2.9) implies that for any $\varepsilon \in (0, \alpha)$, there exists $\delta = \delta(\varepsilon, \alpha) > 0$, such that $M_{\alpha-\varepsilon}(1+x, 1) < A^\alpha(1+x, 1)G^{1-\alpha}(1+x, 1)$ for $x \in (0, \delta)$. \square

REMARK 2.2. If $\alpha \in (0, 1)$, then $A^\alpha(a, b)G^{1-\alpha}(a, b) \geq M_0(a, b)$ for all $a, b > 0$, with equality if and only if $a = b$, and the constant 0 in $M_0(a, b)$ cannot be improved. In fact, if $a = b$, then clearly $A^\alpha(a, b)G^{1-\alpha}(a, b) = M_0(a, b) = a$. Otherwise $a \neq b$ and

$$\frac{A^\alpha(a, b)G^{1-\alpha}(a, b)}{M_0(a, b)} = \left(\frac{a+b}{2\sqrt{ab}} \right)^\alpha > 1.$$

Next, we show that the constant 0 in $M_0(a, b)$ cannot be improved.

For $\alpha \in (0, 1)$ and any $\varepsilon \in (0, \alpha)$, it is easy to see that

$$\begin{aligned} & \lim_{t \rightarrow +\infty} [M_\varepsilon(t, 1) - A^\alpha(t, 1)G^{1-\alpha}(t, 1)] \\ &= \lim_{t \rightarrow +\infty} \left[\left(\frac{1+t^\varepsilon}{2} \right)^{1/\varepsilon} - \left(\frac{1+t}{2} \right)^\alpha (1+t)^{(1-\alpha)/2} \right] \\ &= +\infty. \end{aligned} \quad (2.10)$$

Equation (2.10) implies that for $\alpha \in (0, 1)$ and any $\varepsilon \in (0, \alpha)$, there exists $T = T(\varepsilon, \alpha) > 1$, such that $M_\varepsilon(t, 1) > A^\alpha(t, 1)G^{1-\alpha}(t, 1)$ for $t \in (T, +\infty)$. \square

THEOREM 2.3. *If $\alpha \in (0, 1)$, then $G^\alpha(a, b)H^{1-\alpha}(a, b) \geq M_{\alpha-1}(a, b)$ for all $a, b > 0$, with equality if and only if $a = b$, and the constants $\alpha - 1$ in $M_{\alpha-1}(a, b)$ cannot be improved.*

Proof. If $a = b$, clearly $G^\alpha(a, b)H^{1-\alpha}(a, b) = M_{\alpha-1}(a, b) = a$. Otherwise $a > b$ without loss of generality. Let $t = a/b > 1$ and $f(t) = \log[G^\alpha(a, b)H^{1-\alpha}(a, b)] - \log M_{\alpha-1}(a, b)$. Then we have

$$f(t) = \frac{\alpha}{2} \log t + (1 - \alpha) \log \frac{2t}{1+t} - \frac{1}{\alpha-1} \log \frac{1+t^{\alpha-1}}{2},$$

$$f(1) = 0, \tag{2.11}$$

$$f'(t) = \frac{1}{t^2(1+t)(1+t^{\alpha-1})} g(t), \tag{2.12}$$

where $g(t) = \alpha t^2/2 - (1 - \alpha/2)t^{1+\alpha} + (1 - \alpha/2)t - \alpha t^\alpha/2$,

$$g(1) = 0, \tag{2.13}$$

$$g'(t) = \alpha t - (1 - \frac{\alpha}{2})(1 + \alpha)t^\alpha - \frac{\alpha^2}{2}t^{\alpha-1} + (1 - \frac{\alpha}{2}),$$

$$g'(1) = 0, \tag{2.14}$$

$$g''(t) = \alpha - \alpha(1 - \frac{\alpha}{2})(1 + \alpha)t^{\alpha-1} - \frac{\alpha^2}{2}(\alpha - 1)t^{\alpha-2},$$

$$g''(1) = 0 \tag{2.15}$$

and

$$g'''(t) = \alpha(1 - \alpha)t^{\alpha-3}[(1 + \frac{\alpha}{2} - \frac{\alpha^2}{2})t + \frac{\alpha^2}{2} - \alpha] > 0 \tag{2.16}$$

for $t \in (1, +\infty)$.

From (2.11)–(2.16) we get $f(t) > 0$ for $t \in (1, +\infty)$.

Next, we prove that the constant $\alpha - 1$ in $M_{\alpha-1}(a, b)$ cannot be improved.

For any $\varepsilon \in (0, 1 - \alpha)$ and $x \in (0, 1)$ one has

$$\begin{aligned} & [M_{\alpha-1+\varepsilon}(1+x, 1)]^{1-\alpha-\varepsilon} - [G^\alpha(1+x, 1)H^{1-\alpha}(1+x, 1)]^{1-\alpha-\varepsilon} \\ &= \frac{2(1+x)^{1-\alpha-\varepsilon}}{1+(1+x)^{1-\alpha-\varepsilon}} - \frac{(1+x)^{(1-\alpha/2)(1-\alpha-\varepsilon)}}{(1+x/2)^{(1-\alpha)(1-\alpha-\varepsilon)}} \\ &= \frac{F(x)}{[1+(1+x)^{1-\alpha-\varepsilon}][(1+x/2)^{(1-\alpha)(1-\alpha-\varepsilon)}]}, \end{aligned} \tag{2.17}$$

where

$$F(x) = 2(1+x)^{1-\alpha-\varepsilon}(1+x/2)^{(1-\alpha)(1-\alpha-\varepsilon)} - [1+(1+x)^{1-\alpha-\varepsilon}](1+x)^{(1-\alpha/2)(1-\alpha-\varepsilon)}.$$

By a Taylor series expansion

$$\begin{aligned}
 F(x) &= 2 \left[1 + (1 - \alpha - \varepsilon)x - \frac{1}{2}(\alpha + \varepsilon)(1 - \alpha - \varepsilon)x^2 + o(x^2) \right] \\
 &\quad \times \left\{ 1 + \frac{1}{2}(1 - \alpha)(1 - \alpha - \varepsilon)x \right. \\
 &\quad \left. + \frac{1}{8}(1 - \alpha)(1 - \alpha - \varepsilon)[(1 - \alpha)(1 - \alpha - \varepsilon) - 1]x^2 + o(x^2) \right\} \\
 &\quad - \left[2 + (1 - \alpha - \varepsilon)x - \frac{1}{2}(\alpha + \varepsilon)(1 - \alpha - \varepsilon)x^2 + o(x^2) \right] \\
 &\quad \times \left\{ 1 + \left(1 - \frac{\alpha}{2}\right)(1 - \alpha - \varepsilon)x \right. \\
 &\quad \left. + \frac{1}{2}\left(1 - \frac{\alpha}{2}\right)(1 - \alpha - \varepsilon)\left[\left(1 - \frac{\alpha}{2}\right)(1 - \alpha - \varepsilon) - 1\right]x^2 + o(x^2) \right\} \\
 &= \frac{1}{4}\varepsilon(1 - \alpha - \varepsilon)x^2 + o(x^2) \quad (x \rightarrow 0).
 \end{aligned} \tag{2.18}$$

Equations (2.17) and (2.18) imply that for $\alpha \in (0, 1)$ and any $\varepsilon \in (0, 1 - \alpha)$, there exists $\delta = \delta(\alpha, \varepsilon) > 0$, such that $M_{\alpha-1+\varepsilon}(1+x, 1) > G^\alpha(1+x, 1)H^{1-\alpha}(1+x, 1)$ for $x \in (0, \delta)$. \square

REMARK 2.4. If $\alpha \in (0, 1)$, then $G^\alpha(a, b)H^{1-\alpha}(a, b) \leq M_0(a, b)$ for all $a, b > 0$, with equality if and only if $a = b$, and the constant 0 in $M_0(a, b)$ cannot be improved. In fact, if $a = b$, then clearly $G^\alpha(a, b)H^{1-\alpha}(a, b) = M_0(a, b) = a$. Otherwise $a \neq b$ and

$$\frac{M_0(a, b)}{G^\alpha(a, b)H^{1-\alpha}(a, b)} = \left(\frac{a+b}{2\sqrt{ab}} \right)^{1-\alpha} > 1.$$

Next, we show that the constant 0 in $M_0(a, b)$ cannot be improved. For $\alpha \in (0, 1)$ and any $\varepsilon \in (0, \alpha)$, it is easy to see that

$$\begin{aligned}
 &\lim_{t \rightarrow +\infty} [G^\alpha(t, 1)H^{1-\alpha}(t, 1) - M_{-\varepsilon}(t, 1)] \\
 &= \lim_{t \rightarrow +\infty} \left[t^{\alpha/2} \left(\frac{2t}{1+t} \right)^{1-\alpha} - \left(\frac{1+t^{-\varepsilon}}{2} \right)^{-1/\varepsilon} \right] \\
 &= +\infty.
 \end{aligned} \tag{2.19}$$

Equation (2.19) implies that for $\alpha \in (0, 1)$ and any $\varepsilon \in (0, \alpha)$, there exists $T = T(\varepsilon, \alpha) > 1$, such that $M_{-\varepsilon}(t, 1) < G^\alpha(t, 1)H^{1-\alpha}(t, 1)$ for $t \in (T, +\infty)$. \square

THEOREM 2.5. For $\alpha \in (0, 1)$ and all $a, b > 0$, we have

- (1) If $\alpha = 1/2$, then $A^\alpha(a, b)H^{1-\alpha}(a, b) = M_{2\alpha-1}(a, b)$;
- (2) If $0 < \alpha < 1/2$, then $A^\alpha(a, b)H^{1-\alpha}(a, b) \geq M_{2\alpha-1}(a, b)$, with equality if and only if $a = b$, and the constant $2\alpha - 1$ in $M_{2\alpha-1}(a, b)$ cannot be improved;

(3) If $1/2 < \alpha < 1$, then $A^\alpha(a, b)H^{1-\alpha}(a, b) \leq M_{2\alpha-1}(a, b)$, with equality if and only if $a = b$, and the constant $2\alpha - 1$ in $M_{2\alpha-1}(a, b)$ cannot be improved.

Proof. (1) $\alpha = 1/2$. Then clearly $A^\alpha(a, b)H^{1-\alpha}(a, b) = M_0(a, b) = \sqrt{ab}$;

(2) $0 < \alpha < 1/2$. If $a = b$, clearly $A^\alpha(a, b)H^{1-\alpha}(a, b) = M_{2\alpha-1}(a, b) = a$. Otherwise $a > b$ without loss of generality. Let $t = a/b > 1$ and $f(t) = \log M_{2\alpha-1}(a, b) - \log[A^\alpha(a, b)H^{1-\alpha}(a, b)]$. Then we have

$$f(t) = \frac{1}{2\alpha - 1} \log \frac{1 + t^{2\alpha-1}}{2} - \alpha \log \frac{1+t}{2} - (1 - \alpha) \log \frac{2t}{1+t}, \tag{2.20}$$

$$f(1) = 0, \tag{2.21}$$

$$f'(t) = \frac{1}{t^2(1+t)(1+t^{2\alpha-1})} g(t), \tag{2.22}$$

where $g(t) = (1 - \alpha)t^{2\alpha+1} + \alpha t^{2\alpha} - \alpha t^2 - (1 - \alpha)t$,

$$g(1) = 0, \tag{2.23}$$

$$g'(t) = (1 - \alpha)(2\alpha + 1)t^{2\alpha} + 2\alpha^2 t^{2\alpha-1} - 2\alpha t - (1 - \alpha), \tag{2.24}$$

$$g'(1) = 0, \tag{2.25}$$

$$g''(t) = 2\alpha(1 - \alpha)(2\alpha + 1)t^{2\alpha-1} + 2\alpha^2(2\alpha - 1)t^{2\alpha-2} - 2\alpha, \tag{2.26}$$

$$g''(1) = 0 \tag{2.27}$$

and

$$g'''(t) = 2\alpha(1 - \alpha)(1 - 2\alpha)t^{2\alpha-3}[2\alpha - (2\alpha + 1)t]. \tag{2.28}$$

From $0 < \alpha < 1/2$ and (2.28) we know that

$$g'''(t) < 0 \tag{2.29}$$

for $t \in (1, +\infty)$.

Therefore, $f(t) < 0$ for $t \in (1, +\infty)$ follows from (2.20)–(2.27) and (2.29).

Next, we prove that the constant $2\alpha - 1$ in $M_{2\alpha-1}(a, b)$ cannot be improved.

For any $\varepsilon \in (0, 1 - 2\alpha)$ and $x \in (0, 1)$ one has

$$\begin{aligned} & [M_{2\alpha-1+\varepsilon}(1+x, 1)]^{1-2\alpha-\varepsilon} - [A^\alpha(1+x, 1)H^{1-\alpha}(1+x, 1)]^{1-2\alpha-\varepsilon} \\ &= \frac{2(1+x)^{1-2\alpha-\varepsilon}}{1+(1+x)^{1-2\alpha-\varepsilon}} - \frac{(1+x)^{(1-\alpha)(1-2\alpha-\varepsilon)}}{(1+x/2)^{(1-2\alpha)(1-2\alpha-\varepsilon)}} \\ &= \frac{G(x)}{[1+(1+x)^{1-2\alpha-\varepsilon}][(1+x/2)^{(1-2\alpha)(1-2\alpha-\varepsilon)}]}, \end{aligned} \tag{2.30}$$

where

$$G(x) = 2(1+x)^{1-2\alpha-\varepsilon}(1+x/2)^{(1-2\alpha)(1-2\alpha-\varepsilon)} - [1+(1+x)^{1-2\alpha-\varepsilon}](1+x)^{(1-\alpha)(1-2\alpha-\varepsilon)}.$$

By a Taylor series expansion

$$\begin{aligned}
 G(x) &= 2 \left[1 + (1 - 2\alpha - \varepsilon)x - \frac{1}{2}(1 - 2\alpha - \varepsilon)(2\alpha + \varepsilon)x^2 + o(x^2) \right] \\
 &\quad \times \left\{ 1 + \frac{1}{2}(1 - 2\alpha)(1 - 2\alpha - \varepsilon)x \right. \\
 &\quad \left. + \frac{1}{8}(1 - 2\alpha)(1 - 2\alpha - \varepsilon)[(1 - 2\alpha)(1 - 2\alpha - \varepsilon) - 1]x^2 + o(x^2) \right\} \\
 &\quad - \left[2 + (1 - 2\alpha - \varepsilon)x - \frac{1}{2}(2\alpha + \varepsilon)(1 - 2\alpha - \varepsilon)x^2 + o(x^2) \right] \\
 &\quad \times \left\{ 1 + (1 - \alpha)(1 - 2\alpha - \varepsilon)x \right. \\
 &\quad \left. + \frac{1}{2}(1 - \alpha)(1 - 2\alpha - \varepsilon)[(1 - \alpha)(1 - 2\alpha - \varepsilon) - 1]x^2 + o(x^2) \right\} \\
 &= \frac{1}{4}\varepsilon(1 - 2\alpha - \varepsilon)x^2 + o(x^2) \quad (x \rightarrow 0). \tag{2.31}
 \end{aligned}$$

Equations (2.30) and (2.31) imply that for any $\alpha \in (0, 1/2)$ and $\varepsilon \in (0, 1 - 2\alpha)$, there exists $\delta = \delta(\alpha, \varepsilon) > 0$, such that $M_{2\alpha-1+\varepsilon}(1+x, 1) > A^\alpha(1+x, 1)H^{1-\alpha}(1+x, 1)$ for $x \in (0, \delta)$;

(3) $1/2 < \alpha < 1$. If $a = b$, then clearly $A^\alpha(a, b)H^{1-\alpha}(a, b) = M_{2\alpha-1}(a, b) = a$. Otherwise $a > b$ without loss of generality. Let $t = a/b > 1$ and $f(t) = \log M_{2\alpha-1}(a, b) - \log[A^\alpha(a, b)H^{1-\alpha}(a, b)]$. Then from $1/2 < \alpha < 1$ and (2.28) we have

$$g'''(t) > 0 \tag{2.32}$$

for $t \in (1, +\infty)$.

Therefore, $f(t) > 0$ for $t \in (1, +\infty)$ follows from (2.20)–(2.27) and (2.32).

Next, we prove that the constant $2\alpha - 1$ in $M_{2\alpha-1}(a, b)$ cannot be improved.

For any $\varepsilon \in (0, 2\alpha - 1)$ and $x \in (0, 1)$ one has

$$\begin{aligned}
 & [A^\alpha(1+x, 1)H^{1-\alpha}(1+x, 1)]^{2\alpha-1-\varepsilon} - [M_{2\alpha-1-\varepsilon}(1+x, 1)]^{2\alpha-1-\varepsilon} \\
 &= \left(1 + \frac{x}{2}\right)^{(2\alpha-1)(2\alpha-1-\varepsilon)} (1+x)^{(1-\alpha)(2\alpha-1-\varepsilon)} - \frac{1}{2} [1 + (1+x)^{2\alpha-1-\varepsilon}] \\
 &= \left\{ 1 + \frac{(2\alpha-1)(2\alpha-1-\varepsilon)}{2}x \right. \\
 &\quad \left. + \frac{(2\alpha-1)(2\alpha-1-\varepsilon)[(2\alpha-1)(2\alpha-1-\varepsilon) - 1]}{8}x^2 + o(x^2) \right\} \\
 &\quad \times \left\{ 1 + (1-\alpha)(2\alpha-1-\varepsilon)x \right. \\
 &\quad \left. + \frac{1}{2}(1-\alpha)(2\alpha-1-\varepsilon)[(1-\alpha)(2\alpha-1-\varepsilon) - 1]x^2 + o(x^2) \right\}
 \end{aligned}$$

$$\begin{aligned}
 & - \left[1 + \frac{1}{2}(2\alpha - 1 - \varepsilon)x + \frac{(2\alpha - 1 - \varepsilon)(2\alpha - \varepsilon - 2)}{4}x^2 + o(x^2) \right] \\
 & = \frac{1}{8}\varepsilon(2\alpha - 1 - \varepsilon)x^2 + o(x^2) \quad (x \rightarrow 0).
 \end{aligned}
 \tag{2.33}$$

Equation (2.33) implies that for any $\alpha \in (1/2, 1)$ and $\varepsilon \in (0, 2\alpha - 1)$, there exists $\delta = \delta(\varepsilon, \alpha) > 0$, such that $M_{2\alpha-1-\varepsilon}(1+x, 1) < A^\alpha(1+x, 1)H^{1-\alpha}(1+x, 1)$ for $x \in (0, \delta)$. \square

REMARK 2.6. If $\alpha \in (0, 1/2)$, then $A^\alpha(a, b)H^{1-\alpha}(a, b) \leq M_0(a, b)$ for all $a, b > 0$, with equality if and only if $a = b$, and the constant 0 in $M_0(a, b)$ cannot be improved. In fact, if $a = b$, then clearly $A^\alpha(a, b)H^{1-\alpha}(a, b) = M_0(a, b) = a$. Otherwise $a \neq b$ and

$$M_0(a, b) - A^\alpha(a, b)H^{1-\alpha}(a, b) = \sqrt{ab} \left[1 - \left(\frac{a+b}{2\sqrt{ab}} \right)^{2\alpha-1} \right] > 0.$$

Next, we prove that the constant 0 in $M_0(a, b)$ cannot be improved. For $\alpha \in (0, 1/2)$ and any $\varepsilon \in (0, 1 - 2\alpha)$, it is easy to see that

$$\begin{aligned}
 & \lim_{t \rightarrow +\infty} [M_{-\varepsilon}(t, 1)] - A^\alpha(t, 1)H^{1-\alpha}(t, 1) \\
 & = \lim_{t \rightarrow +\infty} \left[\left(\frac{1+t^{-\varepsilon}}{2} \right)^{-1/\varepsilon} - \left(\frac{1+t}{2} \right)^\alpha \left(\frac{2t}{1+t} \right)^{1-\alpha} \right] \\
 & = -\infty.
 \end{aligned}
 \tag{2.34}$$

Equation (2.34) implies that for $\alpha \in (0, 1/2)$ and any $\varepsilon \in (0, 1 - 2\alpha)$, there exists $T = T(\varepsilon, \alpha) > 0$, such that $M_{-\varepsilon}(t, 1) < A^\alpha(t, 1)H^{1-\alpha}(t, 1)$ for $t \in (T, +\infty)$. \square

Similarly, we have

REMARK 2.7. If $\alpha \in (1/2, 1)$, then $A^\alpha(a, b)H^{1-\alpha}(a, b) \geq M_0(a, b)$ for all $a, b > 0$, with equality if and only if $a = b$, and the constant 0 in $M_0(a, b)$ cannot be improved.

Acknowledgements

The authors wish to thank the anonymous referees for their careful reading of the manuscript and their fruitful comments and suggestions.

REFERENCES

[1] H. ALZER, *A power mean inequality for the gamma function*, *Monatsh. Math.*, **131** (2000), 179–188.
 [2] H. ALZER AND W. JANOUS, *Solution of problem 8**, *Crux. Math.*, **13** (1987), 173–178.
 [3] H. ALZER AND S. L. QIU, *Inequalities for means in two variables*, *Arch. Math.*, **80** (2003), 201–215.
 [4] J. BUKOR, J. TÓTH AND L. ZSILINSZKY, *The logarithmic mean and the power mean of positive numbers*, *Octagon Math. Mag.*, **2** (1994), 19–24.
 [5] P. S. BULLEN, D. S. MITRINOVIĆ, AND P. M. VASIĆ, *Means and Their Inequalities*, D. Reidel Publishing Co., Dordrecht, 1988.

- [6] J. CHEN AND B. HU, *The identric mean and the power mean inequalities of Ky Fan type*, Facta Univ. Ser. Math. Inform., **4** (1989), 15–18.
- [7] P. A. HÄSTÖ, *Optimal inequalities between Seiffert's mean and power means*, Math. Inequal. Appl., **7** (2004), 47–53.
- [8] C. O. IMORU, *The power mean and the logarithmic mean*, Internat. J. Math. Math. Sci., **5** (1982), 337–343.
- [9] W. JANOUS, *A note on generalized Heronian means*, Math. Inequal. Appl., **4** (2001), 369–375.
- [10] T. P. LIN, *The power mean and the logarithmic mean*, Amer. Math. Monthly, **81** (1974), 879–883.
- [11] J. E. PEČARIĆ, *Generalization of the power means and their inequalities*, J. Math. Anal. Appl., **161** (1991), 395–404.
- [12] K. C. RICHARDS, *Sharp power mean bounds for the Gaussian hypergeometric function*, J. Math. Anal. Appl., **308** (2005), 303–313.
- [13] C. D. TARNAVAS AND D. D. TARNAVAS, *An inequality for mixed power means*, Math. Inequal. Appl., **2** (1999), 175–181.
- [14] W. L. WANG, J. J. WEN AND H. N. SHI, *Optimal inequalities involving power means*, Acta Math. Sinica, **47** (2004), 1053–1062 (in Chinese).
- [15] S. H. WU, *Generalization and sharpness of the power means inequality and their applications*, J. Math. Anal. Appl., **312** (2005), 637–652.

(Received July 15, 2009)

Yuming Chu
Department of Mathematics
Huzhou Teachers College
Huzhou 313000
China
e-mail: chuyuming@hutc.zj.cn

Boyong Long
College of Mathematics Science
Anhui University
Hefei 230039
China
e-mail: lbymxy@163.com